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You need: 

• 1 – 6 dice 

• 7 counters 
 

1 more or less spots A game for 2 
 
 

• Roll the dice and say the number. For example 
 

• Put a counter on a ladybird that has either 1 more or 1 less spot.  
 
• Say, for example                                   or  
 

• If you can’t go, miss a turn. 
 

• The winner is the player that covers the last ladybird. 
 
               
                       
 
 

               
 
 
                       
 

 

 
 

 
 

 

 
 

 
 

 

 

1 more than 3 is 4. 1 less than 3 is 2. 
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